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Use/Purchase Agreement

This Preparation Guide is intended solely for use by candidates/applicants who are preparing to
participate in a testing process for a municipal, county, state or federal agency that will
administer the Law Enforcement Officer Selection Tool™, herein referred to as the LST™, as part
of its testing and selection process.

This Preparation Guide is intended for distribution ONLY to candidates/applicants as described
above or to approved representatives of municipal, county, state or federal agencies in
conjunction with the administration of an agency-approved testing process. Distribution to any
outside parties is expressly forbidden.

Any use of this Preparation Guide for purposes other than those stated herein is expressly
prohibited. This Preparation Guide contains copyrighted and trademarked content. The
alteration, reproduction or distribution of this content through physical or electronic mediums
is expressly prohibited. Violators will be punished to the fullest extent of the law.

Any questions should be directed to Industrial/Organizational Solutions: info@iosolutions.com
OR 888-784-1290.

Copyright © 2015, I0S, Inc. Page | 1
All rights reserved.


mailto:info@iosolutions.com

1. Preparing for a Trial Court Career

The purpose of this guide is to enable you to efficiently and effectively prepare to participate in
the administration of the LST™, a state-of-the-art test to identify those individuals who will
excel in careers in the Trial Court. The LST™ will be a critical hurdle in the pathway toward
achieving an employment opportunity in the Trial Court. This guide seeks to provide, for
whichever position you are seeking, critical information about the LST™ that will allow you to
prepare for the test-taking experience, hone your cognitive skills, minimize test-related anxiety
and ultimately perform at your peak level.

Examinations can vary greatly in form and composition; therefore, we encourage you to be
discerning about any other resources you may use to prepare for the LST"™. This guide was
created specifically for the LST™ by the publisher of the LST™. No other source of information
will be as informative or accurate concerning the content and construction of the LST™.

2. What Does the LST Measure?

The LST™ was designed to measure numerous areas that are related to successful performance
as a law enforcement officer. The LST™ went through a rigorous validation process and
empirically proven to be predictive of job success in the Trial Court. The LST'™ contains
guestions covering two broad areas: cognitive abilities and non-cognitive traits. It is important
to note that the LST™ does not measure job knowledge or any specific skills that require
specialized training. You will not need any specific Trial Court knowledge or skills to succeed on
the LST™.

Cognitive Abilities

The cognitive section of the LST™ assesses seven distinct cognitive abilities: deductive
reasoning, flexibility of closure, inductive reasoning, information ordering, spatial orientation,
written expression and written comprehension. These cognitive ability areas have been
demonstrated to be essential for success in the Trial Court based on job analytic research and
test validation procedures.

Cognitive abilities are capabilities of our brains to perceive, reason, understand, manipulate and
interact with stimuli in the world around us. Cognitive abilities are honed through education,
training and practice. Understanding each cognitive ability, considering your personal strengths
and weaknesses and allocating time to practice cognitive abilities that you tend to be weak in is
one of the best ways you can prepare for the LST™.

In order to better familiarize you with the diversity of questions you will experience in the
cognitive section of the LST™, the following table will describe each cognitive ability area and
the manner in which it might be demonstrated on the job.
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Cognitive Ability

Description

Deductive Deductive reasoning is the ability to apply rules and principles to make decisions

Reasoning about what to expect from a specific situation. During training, Trial Court employees
learn about specific rules and laws. They often have to apply this information to
specific situations that occur in the field.

Flexibility of Flexibility of closure is the ability to identify or detect a known pattern (a figure,

Closure object, word, or sound) that is hidden in other distracting material. Often, Trial Court
employees are will need to recognize individuals (i.e., contacts, probationers, or past
criminals) who may change their appearance by coloring their hair, changing hair
styles, wearing glasses or caps, etc., employees will need the ability to recognize a
face despite minor changes that are made to one’s appearance.

Inductive Inductive reasoning is the ability to combine specific pieces of information to arrive at

Reasoning a conclusion about what the causal relationship is between those pieces of
information and the resulting outcome. Employees frequently exercise this ability
when they take in multiple pieces of information about an incident and then make
decisions about how to react to a scenario based on that information.

Information Information ordering is the ability to identify the best or proper order of given actions

Ordering or steps. This ability is fundamental to understanding the proper order of steps in
performing a specific task safely. Employees often display this ability when they
collect facts and accounts from witnesses and then attempt to piece together the
sequence of events based on disparate pieces of information.

Spatial Spatial orientation is the ability to understand how to navigate within spaces or how

Orientation to get from one point to another. Employees require this ability to travel from point
“a” to point “b” when navigating or searching a building during a tactical operation,
or while in transport to an unknown location.

Written Written comprehension is simply the ability to read the English language and

Comprehension

understand what is being communicated. This involves an understanding of
vocabulary, grammatical structure, punctuation and literary style. Employees are
required to read and understand a vast amount of training materials and are
confronted with on-going professional training throughout their career that is
presented in a written format. Employees also have to read and understand policies,
directives, and other communications.

Written
Expression

Written expression is the ability to communicate intended thoughts using the English
language. This ability requires an understanding of vocabulary, grammatical
structure, punctuation and syntax. Trial Court employees are responsible for writing
incident reports and communicating information through logs and records; therefore,
officers must be able to communicate intelligently and professionally via the written
word. It is necessary to understand how to spell common words, properly use and
pair parts of language (e.g., nouns, verbs, articles, etc.), punctuate sentences properly
and compose meaningful sentences.

Your performance on the cognitive section can be dramatically improved by practicing these

specific cognitive abilities. Often, when individuals fail to answer a question correctly, they do
so because they are unable to determine the method by which the problem should be solved.
This preparation guide will review the proper methods of solving each type of question found
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on the LST™. Later in this guide, sample cognitive ability questions will be presented that will
allow you to practice these methods, assess your abilities and address your areas of weakness.

Non-Cognitive Traits

In addition to cognitive ability, the LST™ measures a wide array of non-cognitive dimensions.
These fall into two main categories: work styles (personality) and biographical data. Your
predisposition to respond to people and situations in a given way is your style or personality.
These traits have been developed in you over a long period of time and are considered to be
very stable. Your biographical experiences are those experiences in your life that result from
your abilities, interests and personality.

Work styles and biographical data help to predict your suitability for a Trial Court job and your
likelihood of succeeding in this career. There are many different patterns of styles and
biographical experiences that lead to success. For this reason, it is important that you respond
candidly to questions in this section.

3. How is the LST Scored?

A score will be calculated for each cognitive ability and these sub-scores will be combined into a
cognitive section score. Likewise, sub-scores will be combined into section scores for each of
the non-cognitive areas. Finally, each section score will be combined into a single composite
score on a 100-point scale. Each part of the LST™ will contribute to your final test score.

4. Rules Governing the Testing Process

The LST™ testing process is governed by many rules. Please familiarize yourself with these rules
and closely adhere to them so that you are not disqualified from the testing process. If at any
time during the test administration you have a question about the rules of the test, you are
strongly encouraged to raise your hand and ask that question. It is better to ask a question than
to be disqualified for breaking a rule.

Test Security

The administration of the LST™™ is a highly secure process. By participating in the testing
process, you agree that you will maintain the security and confidentiality of the test content
with which you come in contact. This means that you will not share information about the
guestions or answer options with anyone either during or after the testing process. If you are
found to have shared secure test content, you will be barred from future participation in a
LST™ testing process, and could be subject to legal action. You are prohibited from copying
down test content, removing test materials from the testing environment or in any way
reproducing or distributing test content.
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You will not be allowed to have access to photographic devices (e.g., cameras, video
equipment, cellular phones, scanners, imaging devices, etc.), mobile phones, or any electronic
device that is capable of capturing or removing images or content related to the LST™.

Aids

The LST M is designed to be taken without the assistance of any type of reference materials or
electronic aids. You are not allowed to bring the following devices into the testing environment
or to use them in the course of taking the test: electronic spelling aids, dictionaries, web-
enabled devices, calculators or any devices that assist you in answering the questions contained
in the LST™.

Sign-in
You will be required to sign-in to the testing site. You will be required to have a valid
government-issued photo identification in order to be allowed into the testing process.

Cheating

Test proctors will be present to instruct test takers and to monitor the security and fairness of
the testing process. If any candidate is determined to have in any way violated test rules or
engaged in dishonest behavior, that individual will be removed from the testing process by test
proctors and will be disqualified. Any behavior that demonstrates a willful violation of the test
rules or dishonest behavior (e.g., viewing another test-taker’s answer sheet, answering
guestions after time expires, sharing answers with other parties) will result in disqualification.
You should seek to avoid the appearance of any wrong-doing throughout the test-taking
process. Keep your eyes on your testing materials and do not engage in conversation with other
test-takers during the test.

Using the Answer Sheet

You will record your answers on a computer-read answer sheet. This type of sheet, sometimes
referred to as a Scantron form, is highly sensitive. Be careful not to make errant marks on the
answer sheet or use the answer sheet as scratch paper. Fill in all answer spaces according to the
instructions provided prior to the administration of the test. Ensure that your answers are
legible and are clearly and darkly marked. Also, frequently check to make sure that the number
of the question that you are answering corresponds to the number on the answer sheet.

Responding to Questions

No additional points are deducted for marking incorrect responses; therefore, it is in your best
interest to answer all questions contained in the LST™™. Your failure to answer all questions
could have a detrimental effect on your test score. It is advisable to make an educated guess on
a test question rather than leaving the question blank.

There are four answer options for each LST™ cognitive ability question, thus random guessing
affords you a 25 percent chance of correctly responding to any given question (as compared to
zero percent if you leave a question blank). If you are uncertain about the correct answer,
eliminate options that you feel are clearly incorrect and then guess the correct answer from the
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remaining answer options. By using this method, you will increase your probability of correctly
responding to questions when guessing. The table below demonstrates how the probability of
success increases when you are able to eliminate incorrect answer options. As you can see,
using a process of elimination and making your best educated guess is the best strategy for the
LsT™.

Possible Answer

Choices

Probability when

Guessing 100% 50% 33% 25%

If you are having trouble identifying the correct answer for a question, it may be beneficial to
skip the question and come back to it as time allows. This will keep you from wasting valuable
time on questions that you are less likely to respond to accurately.

Time Management

The LST™ contains 120 non-cognitive test questions in Section | and 70 cognitive questions in
Section Il. You will be allowed 30 minutes to answer the questions in Section |. Once time is
called, you will immediately be read the instructions for Section Il. After instructions are read,
you will be allowed two (2) hours to complete Section Il. Once Section Il begins, you will not be
allowed to make any changes to Section |. The time allowed to complete each test section
should be sufficient to answer all questions. It is your responsibility to manage your time
effectively so that you can complete the test, in its entirety, in the allotted time period. You
may find it helpful to bring a wrist watch with you so that you can track your time.

Test Etiquette

It is important that you be respectful to other test takers seated around you. Do not make loud
noises or engage in distracting behavior during the course of the test administration. If you use
the washroom or exit the test facility, do so quietly and with as little distraction as possible. If
you complete a test section and must wait prior to the beginning of the next section, please sit
quietly. You may wish to review your answers.

5. Test Preparation

You have weeks or months remaining before the administration of the LST™. We recommend
that you use this time to systematically prepare for the test. Your preparation should involve
four simple steps:

1. Review the test dimensions and rules outlined in this Preparation Guide.
2. Review the cognitive example and practice questions and attempt to answer them
correctly.
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3. Identify your developmental needs by noting the types of questions for which you
struggle to provide answers.

4. Practice responding to questions in your weak areas until you are better able to arrive at
the correct answers.

This guide was developed to assist you in identifying your developmental needs. Improving your
weak cognitive areas is the single best way to increase your performance on the test.

6. Example Cognitive Ability Questions

In this section you will be presented with one sample test question for each of the seven
cognitive ability areas. For each cognitive ability area you will be presented with:

e Asample question that is highly similar to the questions contained in the related LST™
section

e Adiscussion regarding the ability area that the test question is measuring

e A recommendation regarding how you should go about answering the question

e An explanation of the correctness/incorrectness of each of the answer options

e An analysis of common mistakes that can be made in answering that particular type of
question
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Example Question 1: Deductive Reasoning

Following is an example of a deductive reasoning question that might be contained in the LST™.

Please use the following table to answer question 1.

Description

Examples

Physical Abuse

Sexual Abuse

Emotional Abuse

Economic Abuse

Psychological Abuse

Physical and purposeful harming of a
spouse to instill control over the
individual.

Coercing, or attempting to coerce, any
sexual contact or behavior with a
spouse without consent.

Undermining an individual's sense of
self-worth, self-dignity or self-esteem.

Making or attempting to make an
individual financially dependent.

Causing chronic fear, paranoia and or
depression by use of fear and
intimidation.

Hitting, slapping, shoving, grabbing,
pinching, biting, hair-pulling. May also
include denying proper medical
treatment.

Marital rape, attacks on sexual parts of
the body, forcing sex after physical
violence has occurred, or treating
someone in a sexually demeaning
manner.

Constant criticism, diminishing one's
abilities, name-calling, damaging one's
relationships with loved ones (e.g.,
friends, family, children).

Controlling all finances by restricting
access to money, bank accounts, credit
cards. Forbidding spouse's
employment or attendance at school.

Threatening physical harm to spouse,
self, children or spouse's loved ones.
Destruction of spouse’s property or
harming of pets. Forcing isolation from
family, friends, school or work.

1. A man is suspected of domestic abuse. His wife has cancer, but he does not take her to her
chemotherapy appointments because he claims they cannot afford treatment. Her friends
and family members try to schedule visits with her, but her husband always tells them that
she is not well enough for guests. According to the information above, what crimes might he
likely be committing?

oo oo

Emotional Abuse and Psychological Abuse
Physical Abuse and Psychological Abuse
Economic Abuse and Physical Abuse
Economic Abuse and Psychological Abuse

Take a moment to review this question and attempt to determine the correct answer.
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This question measures deductive reasoning, or your ability to apply general guidelines
regarding type of domestic abuse to better identify what course of action needs to be taken in
order to achieve a desired outcome in a specific situation.

Before you read the information in the table, read the question carefully. This question is asking
you to identify what type of crimes a man is committing based on some specific behaviors
described in the question. Knowing that you are trying to identify the likely crimes, you can
read the information contained in the table with this in mind. It is also helpful to highlight key
words and descriptions within the reading passage that are in-line with the description
presented in the question.

Based on the question, the man is disallowing his spouse from receiving necessary medical care
and he is inhibiting friends from visiting his wife. These are the behaviors he is demonstrating.
It is important to consider the behaviors and the reasons for the behaviors separately. The man
claims that he is disallowing treating because they can’t afford it and that he will not allow
visitors because his wife does not feel well. These are the reasons he offers to justify the
behaviors. Because the question requires that you identify the possible crimes that are being
committed, it is beneficial to consider the behaviors that are displayed rather than the possible
intentions of the husband. By matching the behaviors to the examples that are described in the
table, it will be possible to determine the crimes that best fit the behavioral patterns.

You can immediately eliminate and emotional abuse as possibilities. Nothing is described in the
guestion that would lead you to believe that the husband is engaging in any of the example
behaviors that help to define sexual and emotional abuse. While the husband claims that they
cannot afford cancer treatments, the question does not say that the husband is disallowing his
wife access to money. For this reason, financial abuse is not a reasonable answer. Both
physical abuse and psychological abuse are possibilities because the husband’s behavior
matches some of the sample behaviors described in these two types of abuse. The husband is
“denying proper medical treatment” and “forcing isolation from family and friends.” Answer
option “b” must be the correct response.

A common mistake made by candidates when responding to deductive reasoning questions is
to attempt to answer the question without carefully considering the information in the table.
Often candidates will assume that they are familiar with the information in the table and will
use their own knowledge to answer the question. In this case, candidates might think they
know how each type of abuse is demonstrated based solely on reading the title of the abuse.
This might lead a candidate to answer the question without reading the full table. Remember,
the information that is contained in the table is all that is necessary to answer the question. If
you do not use the information in the table, there is a chance that you will answer the question
incorrectly.

The LST™ will contain questions like this one or questions that reference charts or graphs. In
each case, the information that is provided in the chart, graph or table is essential for
answering the question. All such questions should be approached in the manner described
here.
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Example Question 2: Flexibility of Closure

Following is an example of an flexibility of closure question that might be contained in the
LST™.

2. This woman has altered her hair. Which of the images below is
the same woman, but with a different hair style?

l.
Il
II.
V.

o 0o T o

Take a moment to review this question and attempt to determine the correct answer.

This question measures flexibility of closure, or your ability to identify or detect a known facial
image that has been hidden in other distracting material such as similar facial images and
altered ancillary features like a changed hair style, facial expression, or the addition or removal
of glasses.

The question provides information regarding the change that has taken place to the target
image. In this case an image of woman is presented along with the statement that she has
altered her hair style. You are to identify the same woman presented in the target image
among the multiple distracting images. Each distracting image is designed to mirror certain
aspects of the target image, though only one is an exact duplicate of the target image.

Faces are like any other object; they are made up of different size shapes —i.e., facial features.
As such, the difference between two faces can be broken down into a comparison of shapes. In
order to correctly answer this question, you will need to break down and compare more finite
shapes found within the faces. You should start your comparison by comparing facial features
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across the faces. For example, compare the eyes, nose, lips, jawline, brow, bridge, cheeks, and
head shape.

Once you begin comparing more finite facial feature, differences between the various faces will
begin to emerge. Comparing the target image’s eyes across all option choices will reveal that
option IV. has eyes that are not similar to the target; option IV. has eyes that are too big and
not the proper shape. Therefore, option IV. can be removed from further consideration. Next,
we can compare the target’s nose to the remaining option choice noses. This comparison
reveals that option lll. has a nose that is not similar to the target. Option Ill.’s nose has nostrils
that are too small, and the bulb of the nose is not upturned enough. Thus, option Ill. can be
removed from further consideration. Last, compare the jawline of the remaining two options to
the jawline of the target image. This comparison reveals that option I.”s jawline ends in a more
pointed chin. The jaw of option I. is also more narrow than the target image. Thus, option I. can
be removed from further consideration leaving only option II. Option Il., or “b,” is the correct
answer; it is the same face as the face in the target image.

A common mistake made by candidates is to not break down the image into more manageable
(or finite) pieces. It can be overwhelming to try to take in all the information at once, especially
when two faces are very similar. The strategy for any question of this dimension type is to deal

with smaller subsets of information. When the wrong strategy is taken, candidates often fail to

notice small differences that identify which option choices are incorrect. Instead candidates will
focus on what is the same rather than what is different.

The LST™ will contain questions that are very similar to the ones presented in this study guide.
In each case, a target image of a face will be presented along with a question identifying
changes that have occurred to the target image. You will need to identify the correct option
choice that has the contains the same face as the target image.
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Example Question 3: Inductive Reasoning

Following is an example of an inductive reasoning question that might be contained in the
LST™.

Please refer to the following information to answer the question below.

Firefighters are at the scene of a traffic accident at the intersection of two major two-way
streets. The driver and passenger of one of the vehicles involved in the accident were seriously
injured and have been transported to the hospital. While several firefighters work to clear the
accident scene, a law enforcement officer talks to witnesses to try and determine the cause of
the accident. The witnesses gave the following accounts:

Witness 1: “I was driving west on Highland Ave. and | was right behind a white sedan. As we
were proceeding through the intersection, a black sports car collided with the car in front of
me. As there was only one westbound lane on Highland Ave., | was unable to continue past the
accident.”

Witness 2: “| was driving south on Route 9 and | came to a red light. As | waited, | saw a black
sports car in front of me that was waiting to make a left turn from Highland Ave. onto Route 9.
It looked like he misjudged the distance between his car and a white sedan driving west on
Highland Ave. because he turned right into it.”

Witness 3: “l was waiting on Highland Ave. to proceed through the intersection because a black
sports car in front of me was waiting to turn left onto Route 9. | think he thought he had time
to make the turn, but he ended up slamming into a white car that was headed west on
Highland Ave. The airbags went off and everything. It was pretty bad.”

Witness 4: “| was driving north on Route 9 and was stopped at a red light. There were several
cars in front of me. | heard horns honking and a loud collision, but | couldn’t see what
happened from where | was.”

3. According to the witness accounts, traffic heading on Route 9 was

a. west; proceeding through the intersection
b. east; stopped at a red light

c. north; stopped at a red light

d. north; proceeding through the intersection

Take a moment to review this question and attempt to determine the correct answer.

This question measures inductive reasoning, or your ability to combine information to arrive at
a conclusion about what happened. In this case, you need to consider the unique perspectives
of four different individuals and use them to weave together one cohesive picture.

In order to answer this question, you have to build a diagram, either mentally or on paper, to
reconstruct the traffic accident that took place. Based on the account of Witness 1, you know
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that Highland Ave. is an east-west street with one lane in either direction. Based on the
account of Witness 2, you know that Route 9 runs north-south. With this information you can
construct the intersection in which the accident took place. By reading each account carefully,
you should be able to construct an accurate diagram that includes all the witnesses and the

vehicles that collided. The following diagram was constructed solely from the information
contained in the four witness accounts.

N

¥

ieS

Rou

- Highland Ave.

The best way to answer this question is to build a similar diagram in your test booklet. By
referring to this diagram, it should be relatively easy to answer the question. In viewing our
diagram we can immediately eliminate answer options “a” and “b” as Route 9 runs north-south
rather than east-west. We know from our diagram that a white car headed west on Highland
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Ave. and a black car that was headed east on Highland Ave., and while in the process of turning
left, collided in the intersection. Therefore, east-west traffic was moving and north-south
traffic was stopped at a red light. Because north-bound traffic was stopped, “c” must be the
right answer to the question.

Given the volume of information that you must synthesize, it is necessary to make some form
of notes or diagram to generate a reasonable understanding of the situation that is described.
Commonly, candidates will error on these types of questions because they are rushing and fail
to generate a clear picture of the situation.

All the questions on the LST™ that assess inductive reasoning will involve the synthesis of
witness or bystander accounts of various situations.
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Example Question 4: Information Ordering

Following is an example of an information ordering question that might be contained in the
LST™.

The statements below were taken from a police report. The statements are not in order.

Statement

1 “I tried to swerve out of the way, but the green car was coming at me so quickly that |
was unable to avoid it.”

2 “Several people approached me, and one person said they obtained the green car’s
license plate before they sped away.”

3 “The light turned green, so | began to drive through the intersection.”

4 “The impact stunned me for a minute, but when | looked out my window | could see the
green car speeding down Terrace Ave.”

5 “All of a sudden, the green car sped up and tried to make the left-hand turn.”

6 “I' was driving north on Humboldt St. and came to a stoplight at the intersection of
Humboldt St. and Terrace Ave.”

7 “The green car slammed into the front driver’s side of my car and the airbag went off.”

8 “As | headed through the intersection | saw a green car waiting to turn left onto Terrace
Ave.”

4. What is the correct order of the statements in the police report?
a.3,6,8,51,7,2,4
b.3,6,8,51,7,4,2
c.6,3,8,5,1,7,4,2

d.6,8,3,51,7,4,2

Take a moment to review this question and attempt to determine the correct answer.

This question measures information ordering, or your ability to place the statements in vehicle
police report in a logical and meaningful order. This involves determining what step must
precede another step to allow the latter step to take place.

In order to answer this question, you must first read through all eight statements. When
reading through them, you may wish to make notes by each step indicating that it comes earlier
or later in the process. If you identify the two or three steps that come earlier, the two or three
steps in the middle, and the two or three steps that come later, you can then go back and rank-
order these statements in smaller groups. This takes a complex task and breaks it into more
manageable pieces.

These statements provide a sequence of events that took place during a car crash. After
reading through all the statements, you will notice that the statements in total can describe the
scene prior to the crash, during the crash and just after the crash. Based on this analysis, you
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can make some quick notes to attempt to place the statements into meaningful groups.
Statement 1 occurs during the crash as the driver is attempting to avoid the crash but is not
able. You should write “during” next to statement 1. Statement 2 must have occurred after
the crash because people are approaching the driver with the license number of the hit-and-run
vehicle. You should write “after” next to statement 2. Statement 3 must be describing the
scene prior to the accident because the driver is beginning to move from a stopped position.
You should write “before” next to statement 3. Statement 4 occurs during the accident
because it discusses the “impact” of the crash. You should write “during” next to statement 4.
Statement 5 must have occurred before the crash. You know from previous statements that
the green car was coming at the driver and was the car that sped away following the collision.
In statement 5 the green car is speeding up to make a turn. It stands to reason that it is this
turn that led to the accident. You should write “before” next to statement 5. Statement 6
describes what the driver was doing prior to the accident. There is no discussion of an accident
or the aftermath of an accident, so it stands to reason that this description is what occurred just
leading up to the collision. You should write “before” next to statement 6. Statement 7 is
clearly a description of the collision. You should write “during” next to statement 7. Statement
8 describes what the driver saw as she began to drive her car through the intersection. She
indicates that the green car was waiting to turn so this must have occurred prior to the
accident. You should write “before” next to statement 8.

You will note that you have four statements that come before the accident, three during the
accident and one following the accident. Since your goal is to place these events in
chronological order, you can immediately designate statement 2 as the last event because it is
the only one to have occurred after the accident. This quick assessment allows you to
immediately dismiss answer option “a” because it does not list statement 2 as the last event.

Looking at the statements that come before the accident; statements 3, 5, 6 and 8; you should
attempt to order these chronologically. You will notice that statement 6 is likely the first event
in the series because this statement has the driver approaching a spotlight and, seemingly,
stopping her car. Because the car is stopped, it would make sense that the next event would
have the light turning green to allow the driver to proceed. Statement 3 fits as the second
event. Statement 8 would be the third event because it has the car moving through the
intersection. This statement also points to the fourth statement as the driver sees the green
car that is going to create the accident. This leaves statement 5 to be the fourth in the series.
So, of these first four statements, we can organize them as follows: 6, 3, 8 and 5. Without
going any further, you could select answer option “c” as the correct response based on your
organization of the first four statements.

For the sake of thoroughness, we will continue to organize the next three statements: 1, 4 and
7. Statement 1 must come first because it describes the last moment before the crash when
the driver tries to “swerve out of the way” to avoid the crash. Statement 7 would be next
because it describes the actual impact, while statement 4 would be last because it has the
green car fleeing the scene. So the order of the middle events is as follows: 1, 7 and 4. The
entire sequenceis 6, 3, 8,5,1, 7,4 and 2. You can look back at answer option “c” and confirm
that it does indeed properly list the entire sequence.
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Once you have determined the proper sequence, read the statements through in order and
make sure that the sequence makes logical sense. If so, you have found the appropriate
solution.

The most common mistake that is made in information ordering questions is failing to read all
the steps before beginning the organization process. You cannot determine the order of
statements, or even categorize them effectively, until you have considered all the choices.
Another common mistake is failing to review the steps in order after you have drawn a
conclusion regarding their order. This last check ensures that the sequence is logical. Often
you will find that it makes sense to switch one or two of the steps around to allow the sequence
to flow better.

All the questions that assess information ordering in the LST™ will be very similar to this
guestion. Some may only ask you to identify the first few or the last few steps, rather than the
sequence of all the steps. Other questions will ask you to identify the placement of one
statement in terms of what other statement it precedes or succeeds. Regardless, all the
guestions will require that you properly order the statements from first to last. If you always
work out the full order of the statements, you will be able to easily answer any question that
will be asked about those statements.
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Example Question 5: Spatial Orientation

Following is an example of a spatial orientation question that might be contained in the LST™.
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5. The police department has been called to an apartment building for a reported domestic
dispute, which is in Apartment A on the second floor. If the police enter the building through
the main doors on the north side of the building, what is the fastest way to get to Apartment
A?

a. Ascend the north stairwell and turn left at the top of the stairs. Walk down the hallway
and take the first right. The door to Apartment A is the second on the right.

b. Ascend the south stairwell and turn right at the top of the stairs. Walk down the
hallway and take the first left. The door to Apartment A is the second on the right.

c. Ascend the east stairwell and turn left at the top of the stairs. Walk down the hallway
and take the second left. The door to Apartment A is the second on the left.

d. Ascend the west stairwell and turn right at the top of the stairs. Walk down the hallway
and take the second left. The door to Apartment A is the second on the right.

Take a moment to review this question and attempt to determine the correct answer.

This question measures spatial orientation, or your ability to understand how you would
maneuver through the two story building depicted in the schematic. This ability involves
imagining yourself inside of the structure and orientating yourself to the direction you would
move if you were at any given point in the structure.

In order to answer this question, you will need to familiarize yourself with the building
schematic. Notice that there is a first floor and a second floor. In three dimensional space, the
second floor would be directly on top of the first floor. Note that the entrance to the first floor
is at the bottom of the schematic and note that there is a stair case directly across from the
entry door. There is also a stair case on the right side of the drawing. Also, note that Apartment
A on the second floor is adjacent to Apartment C and Store Room B. The question asks you to
determine the fastest way to Apartment A if you enter through the main doors (Note that the
main doors are said to be on the north side of the building. It is important to point out that the
manner in which a building is laid-out in a schematic may not always correspond to a compass
where north is at the top of the page. In this case, north is the bottom end of the page and
south is the top end). In order to answer the question, you should draw what you believe is the
shortest distance from the front doors to Apartment A. In this case, that would take you from
the door directly across to the staircase, up the staircase to the second floor, down the hall
towards Store Room B, and then down the hallway that separates Apartments A and H.

In reviewing the answer options, you will note that north, south, east and west stairwells are
referenced. If the main doors are on the north side of the building then the staircase directly
across from those doors is the south stairwell. Based on this orientation, the stairwell on the
right side of the page is west. So, answer options “a” and “c” are not possible responses
because the stairwells that are referenced in these options do not exist. By reviewing the
remaining options, you will note that option “b” corresponds to the pathway that you selected
as being the shortest. Note that answer option “b” requires the paramedics to turn right then
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left. Remember that you have to consider that when you arrive on the second floor you are
facing the north side of the building; therefore a right hand turn will move you down the
hallway towards Apartments A, C and D. Answer “b” is the correct response.

The most common mistakes on spatial orientation questions have to do with improperly
orienting yourself. First, you must understand where north, south, east and west are based on
the building schematic or map you are viewing. You also need to be sure that you consider the
perspective of an individual who is “inside” the map or building. This will allow you to make
correct judgments about whether a turn is left or right, east or west, or north or south.
Remember to carefully review the map or building diagram before reading the questions as this
will help you better relate to the question.

The spatial orientation questions in the LST™ will either be building schematics, as was the case
in this question, or maps of cities and geographical areas.
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Example Question 6: Written Comprehension

Following is an example of a written comprehension question that might be contained in the
LST™.

Please refer to the following passage to answer the question below.

The skill of interviewing has been compared to playing a piano: there are necessary skills, but
the subtleties differentiate an amateur from a professional. Police use interviewing as a
dynamic tool to gather information about a serious crime or a simple traffic accident. An
interview is often confused with an interrogation; the difference is that an interview is non-
accusatory. Interviews tend to be organic and unstructured and may involve more than one
individual. Though there are many different types of interviews, each technique seeks to
accomplish one common goal: truth.

There are two basic methods that interviewers use in their pursuit of truth: the directive
approach and the nondirective approach. In the directive approach, the interviewer is very
much in control. They set the pace and ask questions that result in a very structured interview.
This approach is often used in criminal investigations, as it allows the interviewer to maintain
control and direct the questioning. The directive approach results in a very efficient interview
and can be conducted by a less-experienced interviewer. Because of the structure, the
interview can be more easily replicated if more than one individual needs to be questioned.
The nondirective approach gives more control to the interviewee. The interviewer has greater
flexibility and the interviewee will generally provide more information. When using the
nondirective approach, the interviewee is less likely to realize what goal the interviewer has in
mind. This approach results in longer interviews and requires a more experienced interviewer.

Interviewers set the tone for the interview in the first few minutes they spend with the
interviewee. It is important for interviewers to establish a good relationship with the
interviewee by being courteous and avoiding the use of confusing language (law enforcement-
specific terms or legal jargon). The interviewer should not be reactive, but keep his or her
emotions and feelings in check. In order to obtain accurate information during the interview,
the interviewer should take notes, paying attention to what is said and the body language of
the interviewee. Depending on the interview subject, the interviewer may choose to take a
sympathetic or logical approach. A sympathetic approach, in which the interviewer empathizes
with the interviewee in order to gain confidence, would be best used with an individual who is a
victim. The logical approach, a technique in which the interviewer conducts themselves in a no-
nonsense manner and the impression is given that the interviewer has the answers and the
interviewee is simply being given the opportunity to explain themselves.
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6. According to the passage, what are the benefits of an interview conducted with the directive
approach?

Q

The interview can be easily replicated and administered to more than one individual.

b. The interviewee is given control, allowing them to elaborate and provide more
information.

c. Theinterviewee is less likely to know what the interviewer has in mind.

d. The interviewer gains the interviewees confidence by conducting themselves in a

sympathetic manner.

Take a moment to review this question and attempt to determine the correct answer.

This question measures written comprehension, or your ability to read a lengthy passage and
synthesize the theme of that passage into a single summary statement. In order to do this, you
have to identify what the author sought to communicate and select the answer option that best
summarizes that thought.

The best strategy to use in responding to reading comprehension questions, or any question
that requires you to read a lot of information, is to first review the question. Knowing what you
are trying to answer will allow you to read the passage with a keen eye. After you review the
qguestion, carefully read through the passage and keep in mind the question that you are trying
to answer. Take your time reading the passage. Rushing or skipping over sections will only
make it difficult to arrive at the correct answer. Worse, you will probably end up having to read
the passage again. So, slow down and read for understanding the first time.

As you read each paragraph it is helpful to either underline key sentences that help summarize
the paragraph or make short notes in the margins to summarize the theme of each paragraph.
Following are sample notes you might keep to summarize each paragraph:

e Paragraph 1: interviews are non-accusatory, unstructured and seek truth

e Paragraph 2: two main techniques; directive and non-directive

e Paragraph 3: interviewer should be courteous and take-notes; decides on sympathetic
or logical approach

The question asks you about a specific section of the reading passage. Specifically, the benefits
of a directive approach. By reviewing your summary notes, you will determine that paragraph
two deals with this subject. You can then return to paragraph two to find the answer.

Sentences 2 through 6 deal with the directive approach. These sentences identify three
benefits: the interviewer maintains control and can direct the conversation, the interview can
be conducted by less-experienced interviewers and the interview can be easily replicated. By
knowing that these are the three benefits of the directive approach, you can systematically
review the answer options to see which one best fits. Answer “a” fits with the benefits of a
directive approach cause it notes that it can be easily replicated and administered to more than
one individual. After recognizing that “a” fits, you should still review the other options to
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ensure that they appear wrong. Option “b” is inaccurate because the directive approach gives
control to the interviewer not the interviewee. Option “c” is a wrong answer because it
describes a characteristics of the nondirective approach rather than the directive approach.
Option “d” is wrong because it does not discuss anything related to directive or nondirective
approaches, but rather content discussed in paragraph 3. Based on this analysis, you should
select “a” as the right answer.

The most common error you are likely to make in respond to a question like this is to select an
answer that sounds correct, because the information does come from the passage, but is not
relevant or accurate based on the specific question that is asked. Your challenge is to carefully
read and understand the question that is asked.

All written comprehension questions in the LST™ will contain a focal passage and questions that
are highly similar to the question you see here.
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Example Question 7: Written Expression

Following is an example of a written expression question that might be contained in the LST™.

For the following question, please choose the line that contains the misspelled word,
grammatical error or punctuation error. Only one of the lines will contain an error.

7. I. Officer Gunderson was recently presented
Il.with an award for outstanding service. While he was
lll. off duty, the officer pursued and successfully captured
IV. a man who attempted to rob a conveneince store.

a. Linel.

b. Linell.
c. Linelll.
d. LinelV.

Take a moment to review this question and attempt to determine the correct answer.

This question measures written expression, specifically the ability to identify improper
grammar, spelling or punctuation. To the extent that you understand how to use
grammar/syntax, spelling and punctuation appropriately, you should be able to recognize when
a mistake is made.

In order to answer this question, you should first read it through and see if any error noticeably
stands out to you. If so, carefully verify that the error is indeed an error. Make sure you can
come up with a grammar, punctuation or spelling rule that is clearly broken in this instance. If
there is not an error that immediately stands out, dissect the reading passage line by line. Go
through line | and see if there are any grammar, punctuation or spelling errors. Move through
each line doing the same thing.

In Example Question 7, the only error occurs in line IV. The word “conveneince” is misspelled.
Specifically, the “ei” combination should be “ie.” There is a simple phase that is useful for
remembering the order of these vowels in most words: “i before e except after c.” This means
that the “i” will almost always come before the “e,” unless this letter combination comes right
after the letter “c.” The correct answer is “d.”

There are many rules that govern the use of the English language. It would be wise to consult a
text that teaches grammar and style rules or a writer’s style manual. Please note that the LST™
will only ask questions about conventional and commonly accepted practices. Style manuals
often disagree on lesser grammar and style rules. Also, any misspelled words for which
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guestions are asked will be commonly used words that the majority of individuals should be
capable of spelling.

In addition to the example question noted previously, you will also see questions that ask you
to fill in a word that properly completes the sentence. Often, this will require you to identify
the proper tense or number of a verb, the proper number of a noun, the proper pronoun or the
proper form of a commonly misused word. Another question type will contain a brief
paragraph that must be summarized in a single sentence. The sentence you choose must be
the most accurate and succinct summation of the information in the paragraph. This type of
qguestion will assess your ability to use language economically and accurately.

Following is a brief summary of common and important grammar and syntax rules. This list is
not intended to be exhaustive, but rather to communicate common rules and errors with which
you should be familiar.

Use of Apostrophes and Quotation Marks

e If you are trying to communicate the possessive form of a singular noun, generally you add “
’s” to the word.

e If the noun is plural, generally, you add the apostrophe after the “s.”

e The possessive form of “it” does not contain an apostrophe (the apostrophe is reserved for
the contraction of “it is”).

e Possessive pronouns do not use apostrophes (e.g., hers, yours).

e When contracting words, the apostrophe is intended to take the place of the missing
letter(s) (e.g., “it’s” for “itis,” “couldn’t” for “could not”).

e Generally, a quote contained within a sentence is proceeded by a comma outside the
quotation marks and/or is followed by a comma inside the quotation marks (e.g., He said,
want to go.” “l want to go,” he said.)

III

Subject-Verb Agreement and Verb Tense Agreement

e The number (singular or plural) of the subject dictates the number of the verb (e.g., The
girls run to school. The girl runs to school.)

e When the subject is a pronoun, the pronoun number and verb number must agree.

e He/she/his/her coincide with singular nouns and they/their coincides with plural nouns.

e The verb tense (present, past, future) should remain consistent within a summary or
description.

Commonly Misused Words

e Numerous words are commonly confused are misused including, among/between,
either/neither, or/nor, can/may, whether/weather, affect/effect, farther/further,
then/than, that/which, their/there/they’re and to/too.
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Punctuation

e Commas are used to separate items in a series, to separate a dependent clause from an
independent clause, after certain adverbs (like “therefore”) and before a conjunction
leading into an independent clause.

e Semi-colons are used between independent clauses linked with a conjunctive adverb,

between closely related independent clauses where a conjunction is not used and in a
series that contains internal commas.
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7. Diagnostic Cognitive Ability Questions

In this section you will be presented with practice items for each of the seven cognitive ability
areas (a total of 15 questions). These questions are presented so that you can practice each of
the cognitive ability areas and diagnose your strengths and weaknesses. The correct answers
for these questions are contained in an answer key on the last page of this guide.

Diagnostic Questions 1-2: Deductive Reasoning

Please use the following table to answer questions 1-2.

Description

Examples

Physical Abuse

Sexual Abuse

Emotional Abuse

Economic Abuse

Psychological Abuse

Physical and purposeful harming of a
spouse to instill control over the
individual.

Coercing, or attempting to coerce, any
sexual contact or behavior with a
spouse without consent.

Undermining an individual's sense of
self-worth, self-dignity or self-esteem.

Making or attempting to make an
individual financially dependent.

Causing chronic fear, paranoia and or
depression by use of fear and
intimidation.

Hitting, slapping, shoving, grabbing,
pinching, biting, hair-pulling, and may
also include denying proper medical
treatment.

Marital rape, attacks on sexual parts of
the body, forcing sex after physical
violence has occurred, or treating
someone in a sexually demeaning
manner.

Constant criticism, diminishing one's
abilities, name-calling, damaging one's
relationships with loved ones (e.g.,
friends, family, children).

Controlling all finances by restricting
access to money, bank accounts, credit
cards. Forbidding spouse's
employment or attendance at school.

Threatening physical harm to spouse,
self, children or spouse's loved ones.
Destruction of spouse’s property or
harming of pets. Forcing isolation from
family, friends, school or work.

1. A woman has her husband’s paycheck deposited into her personal account. She allows him
a small stipend each month that he can use for gas money, lunch at work, or anything
personal. When he runs out of money, she berates him and asks him why he is not more
responsible with his money. What forms of abuse is the woman exhibiting?

a. Economic Abuse and Psychological Abuse
b. Emotional Abuse and Psychological Abuse
c. Economic Abuse and Physical Abuse

d. Emotional Abuse and Economic Abuse
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2. Jessica calls the police when she becomes concerned about her friend, Samantha. Samantha
is in a relationship that Jessica believes is abusive. Samantha has not been out with friends
in several months, and the few times that Jessica has seen her she seems distant, timid and
very insecure. Based on Samantha’s behaviors, what has she most likely been exposed to?

a. Emotional Abuse and Psychological Abuse
b. Emotional Abuse and Physical Abuse

c. Psychological Abuse and Economic Abuse
d. Psychological Abuse and Physical Abuse

Deductive Reasoning Answer Sheet

1. ®® © ©
2. ®® © ©®
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Diagnostic Questions 3-4: Flexibility of Closure

3. This man has lost his toupee. Which of the images below
is the same man, but without his toupee?

a.

b
C.
d

Il.
V.
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4. This woman has put her hair up in pigtails. Which of the images

below is the same woman, but with her hair up?

l.

Il.

Il.
V. **

o 0 T W

Flexibility of Closure Answer Sheet

3. ®® © ®
4, ® ® © ©®
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Diagnostic Questions 5-6: Inductive Reasoning

Please use the following information to answer questions 5-6.

Firefighters are at the scene of a traffic accident at the intersection of two major two-way
streets. The driver and passenger of one of the vehicles involved in the accident were seriously
injured and have been transported to the hospital. While several firefighters work to clear the
accident scene, a law enforcement officer talks to witnesses to try and determine the cause of
the accident. The witnesses gave the following accounts:

Witness 1: “l was driving west on Highland Ave. and | was immediately behind a white sedan.
As we were proceeding through the intersection, a black sports car collided with the car in front
of me. Asthere was only one westbound lane on Highland Ave., | was unable to continue past
the accident.”

Witness 2: “l was driving south on Route 9 and | came to a red light. As | waited, | saw a black
sports car in front of me that was waiting to make a left turn from Highland Ave. onto Route 9.
It looked like he misjudged the distance between his car and a white sedan driving west on
Highland Ave. because he turned right into it.”

Witness 3: “l was waiting on Highland Ave. to proceed through the intersection because a black
sports car in front of me was waiting to turn left onto Route 9. | think he thought he had time
to make the turn, but he ended up slamming into a white car that was headed west on
Highland Ave. The airbags went off and everything. It was pretty bad.”

Witness 4: “| was driving north on Route 9 and was stopped at a red light. There were several
cars in front of me. | heard horns honking and a loud collision, but | couldn’t see what
happened from where | was.”

5. According to the witness accounts, the black sports car

a. had the right of way
b. was stopped at a red light
c. should have yielded to eastbound traffic
d. should have yielded to westbound traffic
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6. Based on the information gathered from the witnesses, what likely happened to cause the
accident?

a. The white sedan ran a red light and collided with a black sports car, which had the
right of way on Highland Ave.

b. The black sports car was waiting in the intersection to turn and head north on
Route 9. He collided with a white sedan that had the right of way.

c. The black sports car was waiting in the intersection to turn and head south on
Route 9. He collided with a white sedan that was driving east on Highland Ave.

d. The white sedan was waiting in the intersection to turn and head north on Route
9. He collided with a black sports car that had the right of way.

Inductive Reasoning Answer Sheet

5. 5 ® © ©®
6. ® ® © ©®
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Diagnostic Questions 7-8: Information Ordering

The statements below were taken from a police report. The statements are not in order.

Statement

1 “When | was sitting at my computer, | heard a loud crash outside.”

2 “I'arrived home from dinner with friends around 9:00 p.m. and parked my car in the
driveway.”

3 “I approached my car and saw that my stereo had been ripped out of the dash.”

4 “Once inside, | decided to check my email before getting ready for bed.”

5 “After | saw what had been stolen, | went back inside to call the police.”

6 “l walked outside and saw glass all over the driveway. Whoever broke in didn’t leave

anything behind.”

7 “Right after | parked | walked down to the end of the driveway to grab the empty
trash bins. | put them on the side of the house and went inside.”

8 “I went to the window to see what the noise was and | saw that my car windows had
been broken.”

7. What are the first three statements in the police report?

a.2, 7,4
b.7,2,4
c.1,8,6
d.2,4,1

8. What happened immediately after the victim went to the window to see what caused the
noise?

a. 8-"“lwentto the window to see what the noise was and | saw that my car windows
has been broken.”

b. 3 —“l approached my car and saw that my stereo had been ripped out of the dash.”

1 - “When | was sitting at my computer, | heard a loud crash outside.”

d. 6-—“lwalked outside and saw glass all over the driveway. Whoever broke in didn’t
leave anything behind.”

o

Information Ordering Answer Sheet

7. ®® © ©®
8. ®® © ®
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Diagnostic Questions 9-11: Spatial Orientation
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9. Dispatch receives a call from an apartment building manager who suspects that a resident
may be storing stolen electronics in Store Room F. When providing dispatch with
information, the building manager says that the west stairwell is currently undergoing
renovations and police officers will not be able to use it. When police arrive and enter the
north side of the building, what route should they take to investigate Store Room F?

a. Ascend the east stairwell and turn right at the top of the stairs. Store Room F is located
on the left side of the first hallway on the left.

b. Ascend the north stairwell and turn left at the top of the stairs. Head east down the
hallway, where Store Room F will be located down the first hallway and to the right.

c. Ascend the south stairwell and turn left at the top of the stairs. Head west down the
hallway, where Store Room F will be located down the first hallway and to the left.

d. Ascend the west stairwell and turn left at the top of the stairs. Store Room F is located
on the left side of the first hallway on the left.

10. Police officers are currently investigating the scene of a crime in Suite C on the second floor.
One of the officers is notified that a gas leak has occurred and the investigation must be
stalled so officers can exit the building. If the police officers are currently in Suite C on the
second floor, what is the quickest way to exit the building?

a. Turn right out of Suite C and descend the stairs, which are through the second entryway
on the left. Turn right at the bottom of the stairs to exit through the main doorway.

b. Turn left out of Suite C and descend the stairs, which are through the second entryway
on the right. Turn right at the bottom of the stairs to exit through the main doorway.

c. Turn right out of Suite C and descend the stairs, which are through the second entryway
on the left. Turn left at the bottom of the stairs to exit through the main doorway.

d. Turn right out of Suite C and descend the stairs, which are through the second entryway
on the left. Turn left at the bottom of the stairs to exit through the main doorway.

Spatial Orientation Answer Sheet

9. ® ® © ®
10.® ® © ©
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Use the following map to answer question 11.
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11. A traffic accident occurred at the corner of North Happy Hollow Blvd. and North 48" st. The
police station that will respond is at the corner of Erskine St. and North 51° St. What is the
shortest (least distance) route to take from the police station to the accident scene?

a. Travel south on North 51% St., then east on Grant St., then south on North 49" St., then
east on Blondo St., and then south on North 48" Ave.

b. Travel south on North 51° St., then west on Blondo St., and then south on North 48" st.
Travel south on North 51°% St., then east on Grant St., then south on North 5ot St., then
east on Decatur St., then south on North 49" st

d. Travel south on North 51% St., then southeast on Country Club Ave., then east on North
Happy Hollow Blvd. The accident will be at the third intersection.

Spatial Orientation Answer Sheet

1. ® © ©
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Diagnostic Questions 12-13: Written Comprehension

Please refer to the following passage to answer the questions below.

The skill of interviewing has been compared to playing a piano: there are necessary skills, but
the subtleties differentiate an amateur from a professional. Police use interviewing as a
dynamic tool to gather information about a serious crime or a simple traffic accident. An
interview is often confused with an interrogation; the difference is that an interview is non-
accusatory. Interviews tend to be organic and unstructured and may involve more than one
individual. Though there are many different types of interviews, each technique seeks to
accomplish one common goal: truth.

There are two basic methods that interviewers use in their pursuit of truth: the directive
approach and the nondirective approach. In the directive approach, the interviewer is very
much in control. They set the pace and ask questions that result in a very structured interview.
This approach is often used in criminal investigations, as it allows the interviewer to maintain
control and direct the questioning. The directive approach results in a very efficient interview
and can be conducted by a less-experienced interviewer. Because of the structure, the
interview can be more easily replicated if more than one individual needs to be questioned.
The nondirective approach gives more control to the interviewee. The interviewer has greater
flexibility and the interviewee will generally provide more information. When using the
nondirective approach, the interviewee is less likely to realize what goal the interviewer has in
mind. This approach results in longer interviews and required a more experienced interviewer.

Interviewers set the tone for the interview in the first few minutes they spend with the
interviewee. It is important for interviewers to establish a good relationship with the
interviewee by being courteous and avoiding the use of confusing language (law enforcement-
specific terms or legal jargon). The interviewer should not be reactive, but keep his or her
emotions and feelings in check. In order to obtain accurate information during the interview,
the interviewer should take notes, paying attention to what is said and the body language of
the interviewee. Depending on the interview subject, the interviewer may choose to take a
sympathetic or logical approach. A sympathetic approach, in which the interviewer empathizes
with the interviewee in order to gain confidence, would be best used with an individual who is a
victim. The logical approach, a technique in which the interviewer conducts themselves in a no-
nonsense manner and the impression is given that the interviewer has the answers and the
interviewee is simply being given the opportunity to explain themselves.
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12. What is the difference between an interview and an interrogation?

a. Aninterrogation is usually conducted over a long, uninterrupted period of time, while
an interview can be conducted in segments.

b. The logical approach is generally reserved for use in an interrogation, while interviews
are conducted with a sympathetic approach.

c. Aninterview is less structured than an interrogation and is non-accusatory.

d. Interrogations are only used when the party is known to be guilty.

13. Which of the following is the best summary of the paragraph?

a. Interviews can be conducted many different ways, but there are certain methods that
have proven to be more effective than others.

b. Interviews, though used in the pursuit of truth, can take many different forms and can
be adapted to each unique situation.

c. Though interviews and interrogations are often confused, they are conducted in
different manners and generally have slightly different goals.

d. Only the most experienced and skillful interviewers can have a successful interview that
results in the unveiling of truth.

Written Comprehension Answer Sheet
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Diagnostic Questions 14-15: Written Expression

Please select the word that best completes the sentence.

14. Given the stressful nature of Trial Court careers, many departments counseling
and debriefing services to their employees.

a. provides
b. provide

c. provided
d. provider

Use the following information to answer question 15.

A new type of crime has been on the rise since the creation of “social networking” websites:
cyberstalking. Now that anyone can easily create their own website, upload photos or maintain
a profile on a social networking site, cyberstalkers can use email, instant messages or even
video chats to threaten, intimidate or otherwise harass their victims. Cyberstalking operates in
a similar way to offline stalking: cyberstalkers will make unwanted contact and attempt to
scare, control or coerce their victims. Cyberstalking is increasingly expanding among young
people because, unlike older generations, today’s youths have been exposed to technology at a
very young age. Many adolescents use computers regularly and may even have their own cell
phone. Though crimes such as cyberstalking are difficult to completely eradicate, there are
practical steps internet users can take to protect themselves from online harassment. Personal
emails and passwords should be kept private. Choosing a gender-neutral email address or alias
can be beneficial, especially since women are often targets of cyberstalking. Change website or
social networking security settings to block unapproved users from viewing your personal
information or photographs. Safeguard your passwords and change them on a regular basis. If
you find yourself victimized by a cyberstalker or online harassment, save and document all
communication and contact attempts. This information can be presented to law enforcement
officials as evidence.
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15. What is the main idea presented in this paragraph?

a. Internet users put themselves at risk when they create websites or online profiles; by

avoiding these things, the opportunity for online stalking can be lessened.

“Social networking” can be blamed for the rise in cybercrime, especially cyberstalking.
By taking practice steps, internet users can protect themselves from cyberstalking and
other internet crimes.
d. Cyberstalking is a form of crime that can target anyone, but taking practical steps can
lessen your chance of becoming a victim.

Weritten Expression Answer Sheet
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8. Non-Cognitive Questions

The non-cognitive section of the test will contain two types of questions: behavioral statements
and multiple choice questions. Behavioral statements will present an opinion and require you
to specify the degree to which you agree or disagree. You will use a 5-point scale to respond to
these questions. This scale is presented below.

Strongly Strongly
Disagree | Disagree | Neutral Agree Agree
A B (o D E

When answering questions in this section, you should briefly consider the statement that is
presented and then provide a response that corresponds with your initial reaction regarding
your level of agreement or disagreement. Your first reaction is usually the most candid and
accurate response. You will need to answer these questions quickly in order to complete them
in the allotted time, so do not spend much time on any single question.

III

You should attempt to use the “neutral” response infrequently. A neutral response indicates
that you do not have an opinion, which is rarely the case. If you do have an opinion, whether
strong or not, it is best to respond accordingly — choose the response that most accurately
reflects your sentiments.

The other question type that you will see in the non-cognitive section of the LST™ is a multiple
choice question. These questions will ask you about your personal experiences or behavioral
inclinations. You will be given four to five options to choose from. Select the option that best
corresponds to your experience or opinion. Again, you should go with your initial reaction and
avoid spending too much time on any question.

There is a candidness scale within the non-cognitive section that will assess the degree to which
you respond to questions in a socially desirable manner. In other words, if you attempt to
answer questions as you think they should be answered as opposed to in alignment with your
opinions and experiences, your test score will be downgraded. Please answer every question
honestly and candidly. All answers you provide may be verified later in the selection process
during a background check and/or polygraph procedures. Dishonest or inconsistent responses
could result in your disqualification.
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9. Before the Test

Your performance on the LST™, in part, depends on your physical and mental readiness.
Following are some suggestions for performing optimally:

e Review the test rules contained in this Preparation Guide just prior to the test date.

e Plan to arrive to the test site on time by securing directions and leaving yourself plenty
of time to get to the location (consider traffic and unforeseen occurrences).

e Get a good night’s sleep the nights leading up to the test administration.

e Eatagood meal prior to the test.

e Bring appropriate sign-in materials and a wrist watch to track your time.
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10. Answer Key

Review your answers from the answer spaces on the previous pages and use the table below to
indicate if your answer was correct or incorrect by marking a check in the proper column.

Number | Type Answer | Correct Incorrect
1 Deductive Reasoning D
2 Deductive Reasoning A
3 Flexibility of Closure A
4 Flexibility of Closure D
5 Inductive Reasoning D
6 Inductive Reasoning B
7 Information Ordering A
8 Information Ordering D
9 Spatial Orientation C
10 Spatial Orientation A
11 Spatial Orientation D
12 Written Comprehension C
13 Written Comprehension B
14 Written Expression B
15 Written Expression D

Review your right and wrong answers. If you missed one or more questions in any single
cognitive ability area, you should continue practicing that ability area and review the example
guestion contained earlier in this preparation guide. The cognitive section of the test is your
best opportunity to improve your test score — every question you get correct could substantially
improve your ranking.

We wish you success in your pursuit of a Trial Court career!
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